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Introduction

It was pleasing to note that it was evident many centres had accessed the numerous
channels of information available via the Pearson/Edexcel website and from feedback and
training sessions provided to prepare the candidates.

The multiple choice questions were successfully answered by the vast majority of
candidates. The "outline" questions, where a point needs to be identified and then
developed for the second mark, were similarly well answered. The same can be said for
the 2 mark "define" or "what is meant by" questions, although some candidates did not
fully understand the terms. The "state" questions follow in the same vein in that candidates
tended to score full marks or otherwise much fewer marks owing to candidates' lack of
specific knowledge.

The 3 mark explain questions need to have a relevant point/effect etc. identified and

then 2 linked developed points. Where there is a stem i.e. written evidence/background
information provided, the candidate's response must be contextualised. Far too often it

was not and, despite there being one point identified and two linked developed points, the
candidate could only score 2 marks. The context is there to be used in the response and
far too many candidates are failing to use it. The "describe" question for 4 marks allows
candidates a variety of ways to access all the marks. It could be one reason etc. with three
developed points in context. However, it is highlighted in the mark scheme, there could be
two reasons etc. identified with one developed point or a definition and point(s) with or
without development.

Questions 4(d) and 7 are choice questions with marks awarded in levels. A choice has to

be made, justified with developed analysis i.e. to show the advantages and then balance to
that choice i.e. the disadvantages. For the highest marks the response must be in context.
Again, this proved to be a weakness for most candidatess. Many candidates, for example in
Question 4(d), said "interest rates" and then provided valid analysis. Then in an attempt to
provide balance used the "it depends" rule, but just said "it depends on how high the rise is"
and did not develop the point at all.

The "assess" questions 8(b) and 11 followed the same pattern i.e. lacked contextualisation
and, consequently, candidates again did not maximise their potential.
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Question 1 (b)
This question was clearly understood and answered well.
(b) Outline one method a business might use to increase its profit,

(2)

cheapes. s will reduce costs So. profis Wk

ResultsPlus

Examiner Comments

The candidate has identified one method "bulk buy" (1 mark) and
developed it "reduce costs" (1 mark) as the development point.
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(b) Outline one method a business might use to increase its profit,
(2)
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ﬁ ResultsPlus

Examiner Comments

Here the candidate has provided two methods. Both are assessed to
arrive at a mark. "Use economies of scale" (1 mark) is the method,
"lower production costs" is the development/consequence (1 mark).
"Lower the price" (1 mark) is the method, "more people buy the
product" (1 mark) for development. The candidate has penalised
his/herself by writing too much. Only 2 marks can be awarded.
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Question 1 (c)

The concept of cash flow was well understood by the vast majority of candidates.

(c) Define the term cash flow.
(2)

Thl LAMOunL (:Jj‘ J’Y\Q{\Cj thot.. CoMea...indo..a

Chuangm.ond . aldse. ‘%ﬁ%? Mok e obkde . Eh s
Akt o QfLUNLY... thot -GS, ol
ResultsPlus
Examiner Comments
This candidate's response clearly states "money that
comes in" (1 mark) and "money that goes out" (1 mark).
(c) Define the term cash flow,
(2)

Casnflow 8. te. Ari mAde. Oy CACREY, I, A DUACKSS
WNere Llmumbmumn\um(( CIVE. 1O Ceran
g QU4 £ g (AQLCOSK. CRAUCTEAL 1L INVQIVES TAKK g( SKS.
o cl goodl.casnfiow...

ﬂ ResultsPlus

Examiner Comments

There is no clear identification of any flow, either in or out.
However, the candidate has written of the "path" made

by money, thus intimating a flow. This is an example of
where the response suggests that the candidate has some
understanding of the term.
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Question 1 (d)

Despite the vast majority of candidates knowing what cash flow is, a disappointingly small
number could apply the concept of "poor cash flow on a business". Quite often there was
confusion between "cash flow" and "profit".

{ 3

(d) Explain one effect of poor cash flow on a business,

(3)
O E M LD LD B LIS SRS AT R LB EL B LD
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ﬁ ResultsPlus

Examiner Comments

The candidate has identified an effect - "isn't enough money to pay
off costs and expenses" (1 mark), but the development is not a
clearly linked strand following the reason. There is no explanation/link
as to why "production falls". Therefore this response merits 1 mark.

(d) Explain one effect of poor cash flow on a business.
(3)

werdd  han oot hose o W memey  Ce Pcy Fer.
e BSOS and  thag  wold kR ferced o

_ Shat  denm (Total for Question 1 = 8 marks)

ﬁ ResultsPlus

Examiner Comments

In this response there is an effect identified - "being in debt" (1 mark).

This leads on to a consequence - "not have a lot of money to pay their
employees" (1 mark) and a further linked consequence - "they will not work
for the business etc." (1 mark). Therefore, this response merits 3 marks.
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Question 2 (b)

Most candidates cited the lack of substitutes/alternatives or necessity and linked to price as
the development point. Some said it was a necessity and linked it to cooking/heating which
was NOT a valid point of development.

{b) Outline one reason why the demand for gas is price insensitive,

Examiner Comments

The reason highlighted is that gas is a "necessity for many
people" (1 mark) and the development/consequence is
"demand should not fall even if price increases" (1 mark)

(b) Outline one reason why the demand for gas is price insensitive,
(2)

____________ Qac (5~ wesse m&j OERIETED. .. iz~ SN
B N e prodachen. bt o
. 'Tf\k o NaisTmes .w:u'&\ \"OWQ— &b f?itﬁ.l'b. ‘"?[.‘l.(.ﬂ... L)/ (0_’5:3‘" Lf' o

_ v‘uﬂ& A h—e ‘_"95@-*"'_55 Nerven ny ...?WCL‘C_'—...\: S ;

ﬁ ResultsPlus

Examiner Comments

The candidate has identified a reason "necessity"
(1 mark) but the development refers to why it is
a necessity and adds nothing as to why it is price
insensitive. Therefore, this response merits 1 mark.
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Question 2 (c)

Generally well answered with the effect identified, but too often with only one consequence/

development point made.

(c) Explain one likely effect on the customers of British Gas of its price increase.

Njum&& I I V3 S VUV S
_________ TR s €3, e oal A o

OV\MLWU@ e

ﬁ ResultsPlus
Examiner Comments

An effect has been identified - "less likely to spend

money on other luxuries" (1 mark), but the explanation -
"negative impact on the economy" does not follow from the
effect identified. Therefore, this candidate scores 1 mark.
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(c) Explain one likely effect on the customers of British Gas of its price increase.
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ﬁ ResultsPlus

Examiner Comments

The candidate has identified the effect - "less disposable income"
(1 mark), has shown a consequence - "lower standard of living" (1
mark) and a further consequence in context - "afford luxuries like
TVs etc." (1 mark). Therefore, the candidate scores 3 marks.
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Question 2 (d)

This was a question which many candidates found challenging. This may be an area of the
specification that is more difficult to understand. Too many responses were with regard

to competition and not the Competition Authorities and there were several responses that
talked of Brirish Gas.

(d) Describe why the competition authorities might launch an investigation into the
large increase in gas prices charged by suppliers.
(4)

Theg.woukl . have. to. 1(\\/65&!9&&? the.
_______ CEaSoNS Ly the plice InasS inc@used.
_________ £ may.be. Cue to the ooty of
_______ NON._erewnble  resounlEes  tohch nasld -

ﬁ ResultsP

us

Examiner Comments

The candidate, in the first part of the response, has
merely repeated the question, but the last sentence has
merit; "they would have to see if the rise was necessary"
is a reason why the Competition Authorities might launch
an investigation (1 mark) and "as it would have a big
effect on many consumers" is a development of the first
point (1 mark). Therefore, this candidate scores 2 marks.
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(d) Describe why the quuiEGENERSaNNaNEes might gy an ineestigagien into the
I’e in gasspmises charged by suppliers.

(4)
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ﬂ ResultsPlus
Examiner Comments

The first sentence has a description of a Competition Authority (1 mark).
The second sentence has "not acting in the interests of customers"

(1 mark) and expands this in context with "large market power" and
"difficulty of switching to alternate suppliers" (1 mark). Additionally,

the last sentence "prevent the increase if etc." merits 1 mark. However,
there are only 4 marks available and this is what the candidate scores.
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Question 3 (b)

Candidates were generally aware of ways of measuring the standard of living, but there was

a distinct lack of specificity from some candidates.

(b) Other than economic growth, state three ways that measure the standard of
living in countries such as India.

Lffemc ;—Q[?g e e e e

Examiner Comments

Poverty levels is acceptable as a reason; we do not
need to have candidates mention those in absolute or
relative poverty, although it would have been nice!

GCSE Business Studies 5BS05 01
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Question 3 (c)

This was a well answered question, although it was surprising how many candidates
wrote about inflation, unemployment and exchange rates, amongst other things.

economic growth,

Indideen corllalse  @use o ol

N

(c) Explain one negative externality that India may experience as a result of its

(3)

’\ho.(t m:rn»..(..l, . })t" YL O o \70])0,[10(‘1 ) A0 hdia..
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ﬁ ResultsPlus

Examiner Comments

The candidate has identified "air pollution" (1 mark) and
provided a reason/point of explanation "as more people will
have cars" (1 mark). The remainder of the response from
"industry" to the end is the same negative externality with
development, but this has no link to the previous statement.
The word "also" is very often the precursor to a separate,

unlinked statement. Therefore, the candidate scores 2 marks.
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Question 3 (d)

It was surprising how the Single European Market was misunderstood by many candidates.
Several wrote at length on the euro and several substituted "fair trade" for "free trade".
Candidates could benefit from revisiting this area of the specification.

More et
(d) Explain one way in which the Single European Market has led to higher standards
of living within the EU.}m e 1

(3)

o m&“a&fw%m mwg}mm, 36...(hees (300 rex;;’.f}.chw_m
?Bzf&bharﬂ“l IHN" al. o Ihﬂlj alfﬂ;ﬁu{fbfhL’tr&":\/dml%/%n-jmy bacuts ) f“
d\( . puts. E.;am Cﬂﬁoi’hﬂ‘mi’-\jw]‘l’lh{L{CMJ’WCM Un:a) ./I]M Mg {‘l‘ wk...
Ok 0. 00R.. Epor . becas mon. Wm_hkwaiw (Qnls.......

" ¥
Oﬁ_____b_q_'ﬂ_fkﬁ____..thm__(_PM_mh_h._ﬂhurﬂ.;a.c.._.....EL;...__r:.c.wkse.T_.__If__{_(_r.tfu|____€f_h______frq;[un_e_-r _______ hos. on.
WG aerand DR This Geds.. k8. cx haﬁ]ﬂ/gum%g Siae’\dtuﬂu}/ ’{M] }zpraw

i o } < I A J, - .
ﬂqj gty Mony (0 0PAG On cj‘.rr V. (Total for Question 3 = 10 marks)

<;» ResultsPlus

Examiner Comments

The one way identified is "free trade" (1 mark) and there is
development in context - "more exports etc." (1 mark). This
then leads to "increased GDP" (1 mark) and the candidate
then develops this in the last sentence "more money to spend
on goods/services". Therefore, the candidate scores 3 marks.

(d) Explain gne way in which the Single European Market has led to higher standards
of living within the EU.

)

(3
Gmmﬁ{;mm&(eéw ean Mutel s lol b Mghor

Examiner Comments

The candidate has confused "fair trade" for "free trade" and has,
consequently, not answered the question. No marks could be awarded.
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Question 4 (b)

Generally well answered, but some simple errors made that could have been rectified if
answers were reviewed when candidates completed their papers.

(b) State two possible causes of inflation in a country such as the UK.
(2)

Examiner Comments

Both answers are incorrect as they would lead to lower
spending and, therefore, less pressure on price rises.

(b) State two possible causes of inflation in a country such as the UK.

ResultsPlus

Examiner Comments

Both answers are correct as they both relate to supply.
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Question 4 (c)

This was a well answered question, but many candidates did not write in the context of
Waitrose/supermarkets.

Waitrose is a chain of supermarkets based in the United Kingdom (UK). The market it
operates in is very competitive. Waitrose focuses on the quality of its products and
customer service in order to compete.

(c) Explain one effect of inflation on retailers such as Waitrose.

ﬁ Resultstlus

Examiner Comments

The effect, as is often the case, is not immediately identified
and is found in the last sentence - "Waitrose gets less profit"
(1 mark). There are 3 other relevant causes/consequences/
reasons that build on the effect in the Waitrose/supermarket

context i.e. more expensive due to their quality", "luxury
goods" etc. Therefore, the candidate scores 3 marks.
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Waitrose is a chain of supermarkets based in the United Kingdom (UK). The market it
operates in is very competitive. Waitrose focuses on the quality of its products and
customer service in order to compete.,

(c) Explain one effect of inflation on retailers such as Waitrose,
(3)

bequyse \
o would geevpre. (@S5 Saler o0 crof Hev

e VEARERO). X SHOAYeYY WOUls bR dronged

ﬁ ResultsPlus

Examiner Comments

The candidate has identified a consequence of inflation on Waitrose
- "less sales". No merit is given for "marketing mix strategy etc",
although if the candidate had identified "price", the effect would
have been identified. Therefore, the candidate scores 1 mark.
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Question 4 (d)

This question was generally well answered. Candidates understood the impact of higher/
lower interest rates/taxation. Unfortunately, not all candidates linked this to economic
activity, which is what the question was asking. Several candidates used the "it depends"
rule, but just said "it depends on the size of the interest rates" and added no further
development as to why.

Changes in interest rates and taxation are two ways in which the level of UK economic
activity can be affected.

(d) Which of these two methods do you think would be more effective in influencing
the level of UK economic activity and why?

Examiner Comments

A judgement is made in the last sentence "interest rates". The candidate
has shown the benefit of lower interest rates "easier to borrow money" and
consequence in context "able to buy property"”, so the response is at level
2, 3 marks. There is a further consequence - "jobs would be created" and
with "more money being earned", again, is clearly in context. Therefore,
as it stands, 4 marks are merited. The second paragraph follows the same
analytical development as the first and, by itself, would merit 4 marks, but
candidates need to make a judgement and justify it i.e. why and then to
provide balance to access level 3. The balance provided is brief, but relevant
- "less money to pay in subsidies", therefore, this moves the response into
level 3, but only scores 5 as the balance/negative/downside is limited.
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Changes in interest rates and taxation are two ways in which the level of UK economic
activity can be affected.

(d) Which of these two methods do you think would be more effective in influencing
the level of UK economic activity and why?

(Total for Question 4 = 12 marks)

-m [ OMQN BV{ TOTAL FOR SECTION A = 40 MARKS
More VW N)% c\r%hmw, mej

% ResultsPlus

Examiner Comments

In the first sentence "lowering taxation" a judgement has been

made. There is simple support/development. The paragraph on
interest rates is a judgement and the development is merely more
judgement/opinion. The last sentence "taxation" is a judgement.
Therefore, there is a lot of judgement with some simple development.
This corresponds to the level 1 descriptor and is awarded 2 marks.
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Question 5 (a)

This was a question that was answered well with many candidates citing economies of scale
and market power as benefits. However, despite the context of computers/software provided
in the stem, few candidates accessed the full 4 marks.

SECTION B

Answer ALL questions. You should spend 30 minutes on this section.

(éﬁ) Autonomy 7{\

Hewlett-Packard (HP) is the world’s largest maker of personal computers. In 2011 it

announced a £7 billion takeover of Autonomy Corporation, the largest UK software
company.

\HP announced it was to make changes to how the new business would operate.

5 (a) Identify and explain one benefit for HP of the takeover,

Benefit
(1)
Mo b @ oo
Explanation
(3)
His e decawer  den  Bese b (own  beephher  pore

gofe. W Mt Nake  Me  oueldy ob . Sk oodet & ewmeh

pgier | becOuse of  mereyd  deas ., @dbag more  cuehmmes. b ey,

ﬁ ResultsPlus

Examiner Comments

"Profit" (1 mark) is allowed as a benefit. There is a reason given "better
quality etc." and a consequence in context - "more customers to buy
their computers"” (1 mark). There is a second point made re: profits, but
this is not linked to the first. Therefore, the candidate scores 3 marks.

GCSE Business Studies 5BS05 01
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SECTIONB

Answer ALL questions. You should spend 30 minutes on this section.

e N\
e
b A
@ “
w
()
Autonomy ***
my ",
Hewlett-Packard (HP) is the world’s largest maker of personal computers. In 2011 it
announced a £7 billion takeover of Autonomy Corporation, the largest UK software
company.
\HP announced it was to make changes to how the new business would operate.
vy

5 (a) Identify and explain one benefit for HP of the takeover.

Benefit

(1)
Explanation

(3)

o VR AR A TNCSEARAL ... WA NSELS. ... PROSARIS . TN ..
N Sl oda bt B g laanes S cobeeaay,. S

<;» ResultsPlus

Examiner Comments

"Increased market power" is a benefit (1 mark). There are more
than 3 linked statements - "influence suppliers", "charge lower
prices", "increase sales", "increase in profits", but this could apply
to any other large firm e.g. Waitrose, Ford, Cadbury and, because
there is no computer/software context, only 2 marks are awarded
for the explanation. Overall, the candidate scores 3 marks.
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Question 5 (b)

This proved to be a challenging question for many candidates and surprisingly so. Not only
was there the lack of context, but, also, many candidates did not know any valid drawbacks

and this might need addressing in the future.

(b) Identify and explain one drawback for HP of the takeover.

Drawback

(1)
(atun pbs e lesed
Explanation .

tﬂ}’ P?ﬁr/rohs N ﬂ/(’, Q/f! 'y So..

Sy U panger

ResultsPlus

Examiner Comments

No mark is awarded for the drawback; the explanation is not valid
as it does not relate to HP. Therefore, the candidate scores 0 marks.
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(b) Identify and explain one drawback for HP of the takeover.

Drawback

LIS QlORISK.

Explanation

(M

(3)

Togpend L7hiicn.an. Qakecver InCo.aL ke 5&9mmt

O{ QroQrker. tNac. 1P Ao ne wsually. pcﬁu& TAINS
QDG TNK HP nicy ocr e QDIE ta ADORLQ. CNE MAKEL

ur\u oe QDI LO pmuuq LWQ (0 . mm 1 QL U\U

LL ROV 1I\USIL D“(Jy ex\tl wuosowc \r\r qu

oot O ,}1( CSIES. o (Total for Question 5 = 8 marks)

Examiner Comments

The drawback is "big risk" (1 mark). In the explanation
"£7billion" is a reason in context (1 mark); "not able to adapt"

is a consequence (1 mark) and "end in bankruptcy" is a further
consequence (1 mark). Therefore, the candidate scores 4 marks.
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Question 6
Several candidates failed to realise that the "effect on Bob Lesh" was expected. Too many
candidates wrote of the effects on the company either Autonomy or Hewlett-Packard.

Bob Lesh has been a senior manager at Autonomy Corporation for the last five years. He
had been in management positions in several IT firms since leaving university in the early

1980s.

6 Identify and explain one effect of the takeover of Autonomy Corporation on employees
such as Bob Lesh.
Effect
RAK.Of. .m_...[f..C.L‘L.k!_KlEL.EL.ﬂ..C_.a:)..,... e
Explanation

L He meght. replace.. . Al the wadke . .. Avkan XV S—

WG.LRe0).. Thartfore . Audan.ond _j_._._._.(;_o_a_pmahig_m___.____M__O AR AL
at..nok..op..reo .m.c..{..a.m.._m.y.. CORACA 2 E L IR B ChiRe08LA

Sl CONA A4 Huj w033 DL ]u,.‘;; UNM.... LI fore.. & Jadl |

w0 atandacds ag livine (Total for Question 6 = 4 marks) |

ﬁ ResultsPlus

Examiner Comments

The effect is "risk of redundancy" (1 mark); "HP....keeping old
workers" is a reason in context (1 mark); "dramatic fall in income" is
a consequence (1 mark); "fall in living standards" is a further, linked
consequence (1 mark). Therefore, the candidate scores 4 marks.
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Bob Lesh has been a senior manager at Autonomy Corporation for the last five years. He
had been in management positions in several IT firms since leaving university in the early
1980s.

6 Identify and explain one effect of the takeover of Autonomy Corporation on employees
such as Bob Lesh.

Effect

M M W,MW\MH@ (k.. W{a’ M.M 13

beopag M Md a m, (Total for Question 6 = 4 marks)

Aucneasing i Candaed oy Livig

<EP ResultsPlus

Examiner Comments

The effect is "redundancy"” (1 mark); there are more
than 3 linked strands to the explanation, but there is
no context, so, overall, the candidate scores 3 marks.
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Question 7

This was a question where all candidates had a lot to say, but responses could have been
improved if the computer/software context had been provided and, also, if candidates
had been more specific as to how "changing the marketing mix" might help. Many
candidates said that sales would increase which is fine, but they did not say how e.g.

by lowering price. It was just the generic "change the marketing mix" and not what
specific aspect of it. What was very worrying was the number of candidates who regarded
"Research" as being "market research" i.e. finding "customer" opinions. If candidates did
write about research in this vein, very few correctly highlighted seeing what competitors
had done as valid research. Fortunately, the majority wrote of "R & D" as new products,
but only a few candidates used the opportunity within the context to write about "Apple"

products for example.

( )
*7 Two ways in which companies such as HP might grow internally are to:
change the marketing mix
carry out more research and development.
In your opinion, which of these two ways is more likely to help the business grow and
whiy?
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Examiner Comments

A judgement is made to select "the marketing mix" and is developed to show
how the business might grow. The section starting "however" gives balance. The
development of the marketing mix pushes the response into level 2 and with
the balance and judgement i.e. in the last paragraph "best effect" - "more R & D
solely". Therefore, the candidate moves to the top of Level 2 and scores 5 marks.
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*7 Two ways in which companies such as HP might grow internally are to:

change the marketing mix

carry out more research and development.

In your opinion, which of these two ways is more likely to help the business grow and

why?
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ﬁ ResultsPlus

Examiner Comments

The response has a judgement made, developed analysis in
context re: R & D. The balance is limited in comparison, but
given the constraints that candidates operate under, clearly
meets the criteria for level 3 and is awarded the full 8 marks.

GCSE Business Studies 5BS05 01




Question 8 (a)

Too often candidates wrote of business in the singular and, consequently often did not move
beyond 1 mark.

8 In the last 30 years there has been less government regulation of business, but a greater
acceptance of self-regulation, However, the BP oil spillage in the Gulf of Mexico in 2010
has changed attitudes.

(a) Define the term self-regulation.
(2)
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Plus

Examiner Comments

An excellent example that has both strands identified.

8 Inthe last 30 years there has been less government regulation of business, but a greater
acceptance of self-regulation. However, the BP oil spillage in the Gulf of Mexico in 2010
has changed attitudes.

(a) Define the term self-regulation,
(2)
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ResultsPlus

Examiner Comments

An example of an imperfect definition.
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Question 8 (b)

This proved to be a challenging question with candidates being able to write at length
about pressure groups, but far less on their effect on big business and the exploitation of
stakeholder groups by big business as demanded in the question.

*(b) Assess the extent to which pressure groups can prevent the exploitation of
stakeholder groups by big business.

ResultsPlus
Examiner Comments

A very promising opening sentence "to some extent etc". We have context
"trade unions", "BA" and two factors "forced to ground....planes" and "pay
back customers" and in the next sentence "leads to higher costs" and "reduced
profitability". This clearly puts the response into level 2, but only with 4 marks
as, at the moment, there is no balance. From "However the success...... public
opinion", there is balance and, at this point, the response merits 5 marks. We
then have further balance with excellent context which clearly meets the level
3 criteria. The conclusion is excellent and the response merits the full 8 marks.
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*(b) Assess the extent to which pressure groups can prevent the exploitation of
stakeholder groups by big business.
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Examiner Comments

% ResultsPlus

In the first paragraph "affect a business point of view" - "influence...
another one" is one factor identified with limited development.
There is a second factor - "may think about the effects"

and therefore the level 2 criteria are met. There is no balance;
accordingly 5 marks cannot be awarded. Therefore, it merits 3 or 4.
As the example is unlikely to be the case, 3 marks are awarded.
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Question 9

Candidates found this everyday term, "social problem" quite challenging to write about.
Most gave a relevant example, but few highlighted the negative/cost aspect.

9 What is meant by the term social problem?
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ResultsPlus

Examiner Comments

The candidate has not shown any understanding of either "social"
or "problem" and the example is not relevant. Therefore, 0 marks.

9 What is meant by the term social problem?
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ResultsPlus

Examiner Comments

This is an imperfect definition with a valid example "binge
drinking" and therefore the candidate scores 2 marks.
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Question 10

There were two issues with the candidates' performance on this question. One issue was
context i.e. furniture/retail outlets and the second was that many candidates omitted to
read "other than" within "other than as a result of the damage caused by the riots".

There are many reasons why a business might fail,

10 Identify two possible reasons why a business such as House of Reeves might fall, other
than as a result of the damage caused by the riots. For each reason explain how it
would lead to business failure,
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R}
f T £ ‘] i
LOwiyr 5 ..{,f;r.-_:-l_ﬂ4 Ok r—"_u,LSL( i ulh o j,;-r.j.L*, L, Fherrosieed--
| _:j
r;:.‘ g E’!A.a ' {"
Explanation
I 1 (3)
i . Lo J-..'! . CORL . I I
I_.l'-J- LA 5 J‘TJFLy Glﬂtdy e Crtasy fjl_,;_ ﬁ% bk J.'...L ""\-"\f‘.«nf"c'r I.ﬂ]:;_ :,,d"v»"l-l'-'f"l
A b a . A ) - A . IA
e ad 1 'Hrlf{* e oo gt The (oSS O o DUSMARES LTl zdn o

usihess ‘--“L'aif'lt I-I‘J:'"'T. Tbr-’l"'-r"-‘. ng ) "":,l e L J"’"LLL-%'-"';( 'ﬁj W@ oLl J‘J
e podrets fved poce. |t 4a f"n_.ci./..,l-e' (S ot xpensive Hhen

[ 4 | T . I R R i
ey o ..A._.I-."J' :L‘TIL Jlags r'l-'._l'r"j (Ri2 & BUSl-E5) 4o T b (ot b 5%,

A -,L.--i a0 ""I" Z:,A,'J Aty L'J.r’i"m“n 5o H‘E if.'-'f"-l'"*.' 55 r(}um Aice g .r"-"._,l:-"il-u’.-
I,

Reason 2

Hr (1)
[ A 'J_-f'/'l-‘ CLaa ._1 'F-“f' ! ,’l_;.')l-'u ._,% "."r'% budind® fib -'-111\.' cay .
Le ' g f

%)

Explanation

(3)
(f Y ] i 7 ] a Mo
L, 1”*-,‘4‘*&7: 13 r"J;-‘E [--“i].’}ulllfl«' H—Q byQiess r:.-ujd fal e Cayse Lia:

[ __ % | [ .. -
U Sl-a 3§ u“ft-'.c_aLnLqi_ r".',ct Moder ol O, s A sl e

sedir to  ovty A costs Th ax He busiess hlaseacause
9 ': | A ’
| ok 0 “'I"--/;- L l 2UA 4 T ||"' ”Jif"u' '-'JI:-
|
o ra

ResultsPlus

Examiner Comments

The first reason is valid (changing market conditions - supply) (1 mark). The
explanation has at least 3 linked strands, but there is no context, so the candidate
can only score 2 marks for the explanation (2 marks). Therefore, the candidate
scores 3 marks for the first reason.

The second reason is valid (changing market conditions - demand) (1 mark).

The explanation has just one consequence - "might not make enough revenue"

(1 mark). The remainder of the explanation is a repeat of the reason identified.
Therefore, the candidate scores 2 marks for the second reason and 5 marks overall.
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There are many reasons why a business might fail.

10 Identify two possible reasons why a business such as House of Reeves might fail, other
than as a result of the damage caused by the riots. For each reason explain how it
would lead to business failure.

Reason 1

Explanation
(3)
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Reason 2

(1

Explanation
(3)
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Examiner Comments

Both reasons are correct as these are two aspects
of a poor marketing mix. Although the explanation
for both is very similar, there are two consequences
in both explanations that are valid. There is no
context and therefore the candidate scores 6 marks.
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Question 11

This question proved accessible to all candidates and, although there were some very
judgemental responses, there were many excellent responses that made full use of the
stem/evidence. It would have been good to have seen more responses using economic
theory in conjunction with the evidence.

*11 Using the evidence and your knowledge of economics and business, assess the
strength of the case for increased government spending on police and prison
services.

ﬁ ResultsPlus

Examiner Comments

In the first paragraph there are two reasons identified with development

of both and therefore this pushes the response into level 2. The second
paragraph provides balance and a judgement "however it would be a waste
of government spending" and paragraph 3 gives a further valid balance.
The last paragraph is relevant too and worthy of level 3. What is missing is
a clear judgement/conclusion and therefore the candidate scores 8 marks.
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*11Using the evidence and your knowledge of economics and business, assess the
strength of the case for increased government spending on police and prison
services, - N
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ﬁ ResultsPlus

Examiner Comments

One relevant point is identified "opportunity cost" and developed
with relevant links to the point "reason for", "money on education"
and "money on health". As there is only one point identified, the

response is placed in level 1 and is awarded 4 marks.
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Paper Summary

Given the points in the introduction, all candidates performed creditably. All questions had
some excellent responses that showed real perceptiveness and this is a great credit to the
candidates and their teachers.

It is hoped that, in the future, there will be a much better use of the context provided, as
this is clearly a skill that needs to be worked on and developed, not only at this level but,
very much so at AS/A2 level and beyond.
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Grade Boundaries
Grade boundaries for this, and all other papers, can be found on the website on this link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx
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